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Orlando Hill 26-44-8-61 MD
(Scale: 5":100' (10Y)

Field: Wildcat

Well ID: 05-123-32317
Job Number: DDOK-110205

Location: Briggsdale

Operator 2: F.Zitkovic

Company: Carrizo Oil Gas
Well: Orlando Hill 26-44-8-61

Operator 1: M. Valentine

Comment 1: Lat 40° 37' 39.7423 N
Comment 2: Log 104° 10" 1.702 W

State: Co.
County: Weld
Country: USA

Elev KB: 4996'
Elev DF: 4996'
Elev GL: 4982’

#1 MD:4321.0 TVD:4320.7 1:0.7 A:164.4 VS:4.7

Comment 3:

Comment 4:

Comment 5:

Hole Data Casing Record

Size From To Size From To
12 1/4" o' 1410' 95/8" o' 1410
8 3/4" 1410 6798’ 7" 1410 6798’
6 1/8" 6798' 10192 41/2" 6798’ 10192

Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5

Tool SIN 614 887 614

Cal Factor 4 4 2

Gamma Offset 41 42 47

Start Depth 4321 6234' 6798’

Start Date 5/11/11 5/22/11 5/29/11

Start Time 10:45 3:30 10:00

End Depth 6234' 6798’ 10192

End Date 5/14/11 5/28/11 6/4/11

End Time 7:30 4:30 9:45
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#39 MD:6501.0 TVD:6385.9 1:62.5 A:6.9 VS:305.8

#40 MD:6533.0 TVD:6400.0 1:65.1 A:6.6 VS:334.5
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#96 MD:8335.0 TVD:6470.0 1:89.2 A:4.9 VS:2124.6

#97 MD:8367.0 TVD:6470.3 1:89.8 A:4.7 VS:2156.6

#98 MD:8399.0 TVD:6470.4 1:90.0 A:4.7 VS:2188.6
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#103 MD:8557.0 TVD:6467.6 1:92.6 A:4.0 VS:2346.6

#104 MD:8589.0 TVD:6466.1 1:92.7 A:4.0 VS:2378.5

#105 MD:8620.0 TVD:6464.4 1:93.7 A:5.4 VS:2409.5

#106 MD:8652.0 TVD:6462.3 1:93.9 A:6.2 VS:2441.4
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#110 MD:8778.0 TVD:6455.9 1:91.7 A:6.1 VS:2567.2

#111 MD:8810.0 TVD:6455.3 1:90.2 A:5.3 VS:2599.2

#112 MD:8842.0 TVD:6455.6 1:88.7 A:5.5 VS:2631.2

#113 MD:8873.0 TVD:6456.3 1:88.8 A:5.4 VS:2662.2

#114 MD:8905.0 TVD:6456.9 1:89.0 A:5.2 VS:2694.2

#115 MD:8937.0 TVD:6457.4 1:89.3 A:4.5 VS:2726.2

#116 MD:8969.0 TVD:6457.8 1:89.1 A:4.7 VS:2758.2
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#117 MD:9000.0 TVD:6458.3 1:89.3 A:3.8 VS:2789.2

#118 MD:9032.0 TVD:6458.6 1:89.5 A:5.2 VS:2821.2

#119 MD:9063.0 TVD:6458.5 1:90.8 A:5.7 VS:2852.2

#120 MD:9095.0 TVD:6458.3 1:90.0 A:5.9 VS:2884.2

#121 MD:9126.0 TVD:6458.5 1:89.1 A:6.2 VS:2915.1

#122 MD:9158.0 TVD:6458.7 1:90.2 A:7.1 VS:2947.1

#123 MD:9190.0 TVD:6458.7 1:90.1 A:8.0 VS:2979.1
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#124 MD:9221.0 TVD:6458.6 1:90.1 A:7.8 VS:3010.1

#125 MD:9253.0 TVD:6458.9 1:88.9 A:7.6 VS:3042.0

#126 MD:9285.0 TVD:6459.7 1:88.2 A:7.0 VS:3074.0

#127 MD:9316.0 TVD:6460.6 1:88.3 A:6.8 VS:3105.0

#128 MD:9348.0 TVD:6461.5 1:88.5 A:6.1 VS:3136.9

#129 MD:9380.0 TVD:6462.3 1:88.7 A:5.9 VS:3168.9

#130 MD:9411.0 TVD:6463.3 1:87.7 A:6.0 VS:3199.9
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#131 MD:9443.0 TVD:6464.7 1:87.4 A:5.5 VS:3231.9

#132 MD:9475.0 TVD:6466.1 1:87.6 A:5.6 VS:3263.9

#133 MD:9507.0 TVD:6467.3 1:88.0 A:5.2 VS:3295.8

#134 MD:9538.0 TVD:6468.3 1:88.2 A:5.3 VS:3326.8

#135 MD:9570.0 TVD:6469.8 1:86.6 A:4.9 VS:3358.8

#136 MD:9602.0 TVD:6472.0 1:85.4 A:5.7 VS:3390.7

#137 MD:9634.0 TVD:6474.6 1:85.1 A:5.2 VS:3422.6
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#138 MD:9665.0 TVD:6477.8 1:83.3 A:5.7 VS:3453.4

#139 MD:9697.0 TVD:6481.3 1:84.2 A:5.5 VS:3485.2

#140 MD:9729.0 TVD:6484.5 1:84.2 A:5.0 VS:3517.1

#141 MD:9760.0 TVD:6487.6 1:84.2 A:4.6 VS:3547.9

#142 MD:9792.0 TVD:6490.8 1:84.4 A:4.9 VS:3579.8

#143 MD:9824.0 TVD:6493.9 1:84.5 A:4.4 VS:3611.6

#144 MD:9855.0 TVD:6496.6 1:85.4 A:3.6 VS:3642.5
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#145 MD:9887.0 TVD:6499.1 1:85.6 A:2.8 VS:3674.4

#146 MD:9918.0 TVD:6501.4 1:85.9 A:3.4 VS:3705.3

#147 MD:9950.0 TVD:6503.7 1:86.0 A:3.4 VS:3737.2

#148 MD:9982.0 TVD:6505.8 1:86.5 A:3.6 VS:3769.1

#149 MD:10014.0 TVD:6507.8 1:86.3 A:4.0 VS:3801.0

#150 MD:10046.0 TVD:6510.0 1:85.8 A:4.8 VS:3832.9

#151 MD:10078.0 TVD:6512.3 1:85.9 A:4.4 \VS:3864.8
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